	
	a
	b
	c

	1
	ko
	ty
	wa

	2
	ga
	sa
	za

	3
	lo
	mo
	le


Do podanego zapisu dobierz z tabeli odpowiednie sylaby i utwórz z nich wyrazy

1c+2c=





1c+2a=
1a+2c=





1a+2b=
2a+2c=





3b+3a=
1a+1b=





3b+1b+3c=
3c+1c=





1a+3c+2a=
3b+3c=





2b+3b+3a+1b=
1b+3c=





3a+1a+3b+1b+1c=
	
	a
	b
	c

	1
	le
	ki
	fa

	2
	ra
	no
	ko

	3
	la
	pa
	so


1c+1a=





3b+2a=
3c+1b=





3b+1b=

1b+2b=





2a+1b=
2c+1b=





2b+2a=
1c+3a=





2a+2b=
1a+1b=





2c+2a=

3a+1a=





1c+3c+3a=

2c+3a+2b=





2c+2a+1a=

3b+2a+3c+1a=

